2A:

S AIRH A4 D

3 CAMY 2 ADEAEl 2EH(IEXXSANL/RAL AL
SRl TAIHEAIYE =& (S H2)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
AL TH24 10 42,359,498 52,706,601 10,347,103
= 3,000,000
[ 35,949,100
= 3,410,398
SANTHAY L ADIEAIEl SE3HIEL XS INL/XAL A 42,335,530 52,681,120 10,345,590
= 3,000,000
= 35,949,100
< 3,386,430
CATHAAY =& 39,075,530 52,036,120 12,960,590
[ 35,949,100
= 3,126,430
CATHEAS (2 E2RlE) (51) 12,282,710 17,766,100 A\5,483,390
[ 11,166,100
= 1,116,610
403 AXIEHHSAH=201H 12,282,710 17,766,100 A5,483,390
= 11,166,100
= 1,116,610
01 AXISHHA=2 2L 12,282,710 17,766,100 A\5,483,390
O ATHEAI (228l E) 12,282,710
= 11,166,100
= 1,116,610
CAITHEAIS (S APIXIE ) (=1) 11,883,600 22,002,200 210,118,600
[ 11,724,000
= 159,600
403 AXIEHMSA=201E 11,883,600 22,002,200 10,118,600
[ 11,724,000
= 159,600
01 AIXISHHA2EE 11,883,600 22,002,200 210,118,600
O ATHEAIS (SHAIDIE) 11,883,600
s 11,724,000
=S 159,600
SATHEAIS (S3HHAE) (=21) 5,249,200 1,914,000 3,335,200
= 4,772,000
< 477,200
403 MR EHSAHE01H 5,249,200 1,914,000 3,335,200
s 4,772,000
= 477,200
01 XM A =2 E 5,249,200 1,914,000 3,335,200
OZAITHAAIS (ST AS) 5,249,200
[ 4,772,000
= 477,200
SAITHEAIS (ReISUIARIDIE) (=1) 8,890,900 6,152,300 2,738,600
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2A:

S AIRH A4 D

3 CAMY 2 ADEAEl 2EH(IEXXSANL/RAL AL
SRl TAITHAAY = (S H2)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
= 8,287,000
=S 603,900
403 X SHHMSAH=01H 8,890,900 6,152,300 2,738,600
= 8,287,000
== 603,900
01 A= 2L 8,890,900 6,152,300 2,738,600
O AHEAI (ReISUIERIDIE) 8,890,900
= 8,287,000
& 603,900
SANTHEAIS (SAITHEAIE JISEY) 150,000 0 150,000
403 AXIEHHSAH=201d 150,000 150,000
01 AXISHHA2EE 150,000 150,000
OZAIHEAIL (ZAIHEAIE JISE) 150,000
SAITHSE S2AHY =& 33,120 36,520 A2,400
201 er23| 15,120 15,120 0
01 At2teltl 15,120 16,120 0
OFANYRARS & EIt- 4823 2Y 15,120
202 0o4dl 18,000 20,400 22,400
01 =LHNHI 18,000 20,400 A2,400
OSYFX gFE2 & SZAY SHEH 18,000
ZESENMT TAIMAXAHE /5 23 586,000 586,000 0
308 XM SOIE 586,000 586,000
13 SI[2SOHE & EAS A 586,000 586,000
OAASHNIE SAMMNALE SIg 2
g 586,000
22 Y ADEAIE &4 3,260,000 645,000 2,615,000
= 3,000,000
< 260,000
2R ADEAIE HHMEZ 10,000 10,000 0
201 eer23y| 7,000 7,000
01 AtR2t2lHI 7,000 7,000
OANIEAIEl M2IHANEE 2 7,000
202 04| 3,000 3,000
01 =LHOHI 3,000 3,000
O g8 & HY¥EY, U0 3,000
AOIEAIEN ZelX(=1) 3,250,000 635,000 2,615,000
= 3,000,000
=S 250,000
403 MR SHHMSAH=01H 3,250,000 635,000 2,615,000
= 3,000,000
< 250,000
01 MHXIHHA =222 3,250,000 635,000 2,615,000
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M SAIH A
M TAITHY L ADEAE 24 (ZELXNGNL/XNGLEAI)

&Pl A3E ADEAE &4 (CHol &S1)
RA B - SRA(E) - MIRA - BES ol &4 e HIDEY
O LS ADIEAIEl A A (EHEH) 3,250,000
= 3,000,000
S 250,000
A 2HAHI(SAITHADL) (D1EH/DIEH 23,968 25,481 1,513
Jl=2&d| 23,968 25,481 A1,513
FA2E J|I=22H| 23,968 25,481 A1,513
201 L2 15,534 17,541 A2,007
01 AtR2telbl 15,534 17,541 2,007
SA2Y AR2tel] 15,534
202 O] 5,434 4,940 494
01 2L AL 5,434 4,940 494
ORMEE =UHObI 5,434
203 BR8] 3,000 3,000
04 PAE2EERFAH 3,000 3,000
©15¢! olat 250,000 122 3,000
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